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“It is wholehearted purposeful activity
organised in social environment.” This
statement indicates towards which teaching
method ?

(A) Demonstration

(B) Heuristic

(C) Problem Solving

(D) Project

The level of anxiety which makes student
receptive of learning is :

(A) No anxiety

(B) Excessive anxiety

(C) Normal anxiety

(D) Learning has no relationship with anxiety

In team teaching, a team of :

(A) Teachers, who prepare the teaching plan
and implement it

(B) Students, who prepare the teaching plan
and implement it

(C) Teachers and students, who prepare the
teaching plan and implement it

(D) None of the above

Personality traits of Mesomorphic individuals
are :

(A) Traditional and social

(B) Peace loving and solitary

(C) Energetic and angry

(D) None of the above

Teaching strategy is a :

(A) Plan to achieve objectives
(B) Method of teaching

(C) Extra activity in the class
(D) None of the above

‘Known to unknown’ is a :
(A) Teaching Method
(B) Teaching Maxim

(C) Teaching Technique
(D) Teaching Device

To wunderstand the heredity,
understand :

(A) The law of similarity

(B) The law of variation

(C) The law of regression

(D) All of the above

you must

One of the following is not the method of
educational measurement :

(A) Interview

(B) Norm-referenced Test

(C) Questionnaire

(D) Observation

[a—

g IS araraxyT ¥ A fhar s arer

THTS Igewaq Frarha § | 78 TR R

P! o faf oF oik Sda xar 8 7

(A) We¥A

(B) #fRfes

(C) THET GHEIH

(D) WiEE

fiiaT &1 98 WR o 513 @ ¥rEe 3 fod R

AL, T

(A) R 7 &

(B) e ffar

(C) \m=y fefar

(D) 3T (drE) &1 ffar @ P ey T2 8

T o § g7 B -

(A) FTHI BT, W BRI Ao B AR W
SH@! R HRar @

(B) BTE F1, W R a5 @ AR &R SHaT
foparaae v @

(C) ¥=TDI Td BE &, W R dAe B
IR & S9&T fharags aear 8

(D) SULH & & B T

JAABR ARIRG Y@ dlel Afdd § I o

el AT 07 BT & -

(A) WARTEE Td IS

(B) Wt~ iy vd vaia M

(C) wirdftel Td e

(D) ST & ¥ P T

fRreTor @8 Yo ¢

(A) SeE B U PR B A

(B) R o1 fafer

(C) e # ifoRRaa fobar

(D) ST # ¥ I TE

(A) fmeor fafy

(B) v g3

(C) R daie

(D) R gfas

AEHA B A G forldl ATUPT TS wY |

FHFAT &F1 :

(A) GHFaT &1 e

(B) = &1 fm

(C) wfrma & faw

(D) Iugh

frfoRed 4 & o e w9w @ ol =8 8 -

(A) TRITEHR

(B) AHG—Gfid TR

(C) weraet!

(D) 3Gard
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9, What is the real carrier of hereditary traits ? 9.  3ERp Tl FI qrfdD HaED AT g7
(A) Chromosomes (A) T
(B) Nucleus (B) m
(C) Genes (©) =
(D) None of the above (D) ! ¥ P
10.  Achild is scared when he see black dog, black ~ 10.  U& @@ Pl i, Fleil [doeil & Pret BT B
cat and black coat. This conditioning is TEP SH T T 2| 39 UGR D T -
involved in : fafgg 2
(A) Generalisation of response (A) \’AW FT GBI
(B) Generalisation of stimulus (B) SEIU® BT GG
(C) Both(A) & (B) (©) 2 (A) 3R (B)
(D) None of the above D) I 59 P T
11.  The practical method to make student understand 11. il o a7 s=f &1 3 =
the meaning of the difficult word is to : Faeie Ay 2
(A) Teach them usage of such words in (A) wet @Y aret ¥ YA PXS T
sentences e )
(B) Give their antonyms (B) S el I T
(C) Give their synonyms © Wpﬁ_m gar )
(D) None of the above (D) U # ¥ I TEI
12.  Personality of an individual is which aspect of 12,  afdica, bl fdd & TR &1 o W W & ?
his behaviour ? (A) HSHHD T8
(A) COngitiVC aspect (B) ﬂ—\’_-ﬂw ey
(B) Non-cognitive aspect ©) e
(C) Intellectual aspect
(D) External aspect (D) ey W
13.  As a teacher, if you want to correct the bad 13. s 89 & A e 3y fonedt faemeft o 3’\?[
habit of a student, which theory of learning Ired @) QU ed &, a1 fharcas e 991
you will keep in mind while planning the T A9 AT B b Rigid @ eae # w?
action ? GW@& Ryefa
(A) Insight Theory (g) —— Sran
(B) Trial and Error Theory (B) W aﬁ
(C) Classical Conditioning Theory (C) e W R
(D) Field Theory (D) & Rigla
14. Why micro-teaching is important for  14. FHE—He FRIN oy GeH-RET F AEWS @ ?
classroom communication ? (A) TB—W '&"EI
(A) To get feedback B) faf= e 3 e
(B) To develop various skills
(C) To complete the lesson (€) e T’[ il %ﬂ
(D) To evaluate (D) Fediar ég
15.  The behaviour ofateacher may be from ‘verbal’  15. @®§wr ufhar § Red &1 @aer ‘wfes 4
to ‘non-verbal’ in communication process. ‘yefeed dF B Gahal & |
(A) TItis true (A) TE e &
(B) Itis not true (B) TE Td &
Eg)) Itis Pa‘;i‘;luy e (C) T AR & ¥ W &
None of the above :
(D) SUH # ¥ P TE
16. While doing group teaching, out of the 16. m&f%m—f%mvr F o faenfia @ afdra
following, which method you will apply to IR & gEEE %g f=foRag & 9 o a9
solve individualized problems of each student? & Ay &1 g st ?
(A) Lecture (A) TS
(B) Programmed Instruction afmfa
(C) Tutorial % i S
(D) Demonstration D) -ty
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17.

18.

19,

20.

21,

22

23.

24.

While assigning a ‘project work’ to the

students, a teacher should always keep in

mind that it must have :

(A) Educational purpose

(B) Relation with real life situations

(C) Learning by activity

(D) All of'the above

Right to Education Act, 2009 has a provision

for :

(A) Right to free and compulsory education

(B) No mental and physical punishment to
child

(C) Arrangement for protection of child rights

(D) All of'the above

Teaching aptitude means :

(A) Devotion towards teaching work

(B) Desire to become a teacher

(C) All the requisite abilities for profession
of a teacher

(D) Good rapport with student

From the following, which is the best method

of measurement of a student’s inner feelings ?

(A) Questionnaire

(B) Interview

(C) Sociometry

(D) Transplantation method

The cognitive behavioural skill of enabling the
learner, to understand the use of theoretical
statements in real situations is called :

(A) Understanding

(B) Application

(C) Analysis

(D) Synthesis

While writing on the blackboard, out of the
following options, what will you specially keep
in mind to decide about the size of letters.

(A) Distance between blackboard and students
(B) Distance between blackboard and teacher
(C) Length of classroom

(D) None of the above

From the following, which one is not the
element of ‘guidance and counselling’ ?

(A) Adjustment

(B) Orientation

(C) To develop emotions

(D) None of the above

Which step is not included in Action Research ?
(A) Selecting the problem

(B) Generalisation of results

(C) Formulation of action hypotheses

(D) Preparing plan to overcome the problem

iy

18.

19.

20.

21.

22.

43

24.

Y S ¥ X 9ifey b g

(A) W MEF &

(B) Way arafad ofiad o uRRefoal & &
(C) WrgT o gRT &1

(D) S w4

e @7 fReR fRfw, 2000 # FrUE ®
(A) Fyes va i R o sfeer

(B) dcid & IR T4 AMR® v T iy
(C) 9T ARPRI & EREVT DY Faw

(D) ST &

 Rygror ot & e §

(A) R a1t & gfy Fwdor

(B) e a7 & 3981 @

(C) R & Tawy o W qifod IFgdrR 3@
(D) BTl ¥ T Herild

forfeian o & o) femft & sraR@ w=rmal
@ H1Y @) gaH gy P & & ?

(A) TG

(B) VIR

(C) ™It

(D) YIRor fafdy

eI GeRITd PIeel & Jwa fqemdl @
Jgitas du=l & STANT $ arafad TRRuRET
¥ G B GEH T HEATT © -

(A) 3@EM

(B) rgorarT

(C) favemur

(D) G

WIS N o T9Y, 3R} a1 AER T8
@ ford o fohe ard &1 fad e <@ ?

(A) wmug o et & 7y g

(B) WMUE 7N Rma & 7e

(C) PET-FE B TG

(D) SWH # ¥ PIg TEl

frfofad & § @ &1 2 A 1@ Wl
BT 3T TET & ?

(D) W{i?ﬁﬁ%a?réﬂﬁ

fraed SaET § B W1 U wfferd e B 87
(A) T BT 9T

(B) TRl &1 FHTRITHRT

(C) forarcd aReeamal &1 e

(D) T B T FXA B ferq Frorr o
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25. The curve indicating complete information — 25. T & IR ¥ [ THAR 3T B AT qH B
about learning is called : el Ol 2
(A) Curve of increasing return (A) & a9
(B) Curve of decreasing return (B) BN 9T g
(C) Curve of equal return (C) F9M ¥adA a%
(D) S—Shaped Curve (D) TE—IFR TH
26.  What s not essential for measurement of learning? 26.  3IfTH AT P B o) @7 A TE & ?
(A) To know tactics of teaching (A) Reror @Y gfaadt &1 gar e
(B) To know validity of examinations (B) wemall B e s e
(C) To know reliability of examinations (C) el @ Reaw i sTd e
(D) To know acquired skills of the students (D) frenfdfat grr aftfa Phorelt @1 T BT
27.  Intelligence tests are used for : 27.  gfg Wi &1 yEnT fRar o #
(A) Grouping the students in school (A) ferer % et &1 g faem & §
(B) Guidance purpose B) e & W gg
(C) Selection purpose (C) T &R B JANH 8
(D) All of the above (D) Iwiw &
28.  Which of the following is not the element of ~ 28. f=feiiad & & @19 W ‘S IRadT Brerer
‘Stimulus Variation Skill” ? & T ARl B ?
(A) Set Induction (A) o= dRor
(B) Movement (B) g
(C) Gestures (C) TI-HT
(D) Change in voice (D) TH—TwT TR
29. A teacher plans his teaching learning process 29. Ud Rerd e -t ufhar @ aemn
keeping in view : T GG S A T |
(A) The objectives formulated (A) fffa sgew
(B) The human and physical resources (B) e (4 Wfyd dame
2 i gt L (© W (A) W ®)
one of the above ; :
3 (D) SW® & ¥ P T
30. How will you mainly develop self-discipline 30. 3y 39 fenfdfar A = iR ® W—Iema fob|
among your students ? yaR e s ?
(A) Giving them responsibilities (A) IS SEREIIE S
(B) Telling them rules for good character (B) ¥ IR7 & Frow qamaw
(C) Giving punishment (C) T8 AW
(D) Following the rules (D) Frme} @1 e B
31. “A plan is a trap laid to capture the future.” 31,  “FrOee 4w @ gder @ forg eemr e 21
This statement is of : I PYF B
(A) Newman A Al
(B) Hurley EB; :‘E;HW
(D) Terry (D) &
32.  Debenture holders are : 32.  RUYH ORS @ :
(A) Owners of company (A) T & @
(B) Customers of company (B) & & UEd
(C) Creditors of company (C) & & AR
(D) None of the above (D) G‘qvj?ﬁ ¥ B A
33.  Activity Based Costing (ABC) is related to : 33. UM ¥z aiReT (ABC) &1 9wy 2
(A) Apportionment of overheads (A) IuRerdf & gear & forg
(B) Valuation of Inventory (B) &fodl & Feuiea
(C) Process costing (C) ufthar @ a9/
(D) Contract costing (D) S F AT ¥
25/38 87 A-4



34. In which type of Amalgamation, Capital 34. f59 yoR & ToEw F (o 9w o1 =fy &

Reserve or goodwill is computed ? ; T Y W & ?
(A) Amalgamation in the nature of merger (A) THERT TR B TR i

ion in t ure of e :
(B) oAf{r‘;ilsgiﬁt;z;tlon in the nature of purchas (B) @R 26 5 B '@ﬁ ¥
(C) In case of an associate company (C) vHIRide F & o §
(D) In case of holding company (D) @fesT H=i ot e &

35.  Which of the following pair is wrong ? 35. fomfofad & & @19 &1 g9 ol & ?
(A) Outstanding Rent — Personal Account (A) eq fawmr — afdara @
(B) Realisation Account — Nominal Account (B) Tl TIAT — A Bl Gl
(C) Drawings Account — Personal Account (C) SRV Gl — Ao w@rar
(D) Bank Account — Real Account (D) ¥& QT — e @

36. Input in a process is 10,000 units and normal ~ 36. f&et uftear § 10000 gHEA T T F 0§
loss is 5%, when finished output in the process AE B 5% B W9 ufthar § fAfa Sares
is only 9,600 units, there is : 9,600 3HISAT B, ar BN :

(A) An abnormal loss of 100 units (A) 100 SHEAT BN FWERY BT
(B) An alta)normal gain of 1100 units (B) 100 THETN HT AT S
(C) No abnormal gain or loss - :
(D) None of the above Eg)) ?ﬁﬁi g ;;qg A

37. The provision of maximum number of 37. U WRIEN BH ¥ GERERI & JRGdH G& &
partners in a partnership firm is given in a : ey fear T @

(A) Partnership Act (A) IEER gy §
(B) Companies Act (B) T afdfrw §
(C) Contract Act wifder s &
(D) None of the above E[C))) G‘T@?ﬁ ¥ o jﬁf

38. If gag%eggi(\;edhc_mhany cgggac; a}fcountkamoqtl}tzd 38. f&dl 38 W 22,90,000 W< §Y W rd
tox< 2,90, which was o 0f the work certified, IHTﬁ]T‘I .
then amount of work certified will be : @ 80% & o 3 IR e
(A) ¥3,48,000 (A) ¥3,48,000
(B) 2,32,000 (B) ¥2,32,000
(C) %3,62,500 (C) 3,62,500
(D) %58,000 (D) ¥58,000

39.  The concept of marginal costing is useful in : 39. WM ANTA @ ATURIT AHEES @ ¢
(A) Decision making (A) fofg o= &

(B) Computing total cost (B) & AT @ AT e
(C) Computing total profit (C) T a™ B T T |
(D) Record keeping (D) ﬁ"ﬁé P
40. Money market deals in : 40. &1 99R YIER F¥l 7 -
(A) Short term funds (A) I B9 H
(B) Medium term funds (B) HIPH $Y §
(C) Long term funds (C) Al By A
(D) All of the above (D) Wﬁ?ﬁ T 3§
41. The difference between actual cost and 41. IRGRG AN 3R THY AT & TF =R P! Peq &
?j:)ndgrd E?St is called : (A) @
o )
(B) Differential cost (B) il
(C) Variance (C) famor
(D) Margin of safety (D) T @t ¥
42,  Trial Balance is a/an : 42. THAE A9 E:
(A) Account (A) U@ G@rdar
(B) Principal Book B
(C) Subsidiary Book EC; g m
(D) Statement (D) & R
25/38 87 A-5



S

43,

45.

46.

47.

48.

49.

50.

A & B started their business on January 1,
2017 with ¥ 60,000 and ¥ 40,000 respectively.
They share profit loss in capital ratio. A
introduced 20,000 on April 30, 2017 and
9,000 on November 1, 2017. B introduced
fresh capital of T30,000 on May 1, 2017 and
10,000 on October 1, 2017. What will be
their effective capital ratio ?

(A) 229:190

(B) 720:480

(C) 60:40

(D) 898:750

The machinery for settlement of consumer
disputes is :

(A) One — tier

(B) Three — tier

(C) Two —tier

(D) None of the above

Current account for partners should be
opened, when capital is :

(A) Fluctuating

(B) Fixed

(C) Either fixed or fluctuating

(D) None of the above

Cash received from debtors results into :

(A) Source of funds

(B) Application of funds

(C) No flow of funds

(D) All of the above

The loss incurred on an incomplete contract is
transferred to :

(A) Contract Account

(B) Profit & Loss Account

(C) Work-in-progress Account

(D) None of the above

Average clause applies to :
(A) Departmental accounts
(B) Partnership accounts
(C) Company accounts
(D) Insurance claims

Kapil and Sunil share profits of 3 : 2. They
admit Shrikant giving him 1/4 share which he
acquires 2/12 from Kapil and 1/12 from Sunil.
The new profit sharing ratio will be

(A) 8:4:3

B) 16:14:12

(C) 26:19:15

(D) ¥kl

Sales budget is a/an :

(A) Master Budget

(B) Revenue Budget

(C) Expenditure Budget

(D) Functional Budget

43.

44,

45.

46.

47.

48.

49.

50.

AR B ¥ 39T AGH 1 T, 2017 BT HAT:
260,000 T 240,000 ¥ YR™ | & -1
ol g # died &1 A 7 30 3, 2017 B
220,000 9 1 TGRR, 2017 P 9,000 AfRT
Toft oY) B 1 W, 2017 @7 230,000 T 1
IR, 2017 BT 210,000 AR Toit oy |
IFHT JATdT ot ST @ g ?

(A) 229:190

(B) 720 : 480

(C) 60 :40

(D) 898 : 750

IyHIr faarel & Fuer &1 sEwer—a= @
(A) T& — &R

B) B - w7

©) f&- w7

(D) SWW # ¥ PIg &

(A) TRacee 8

(B) Rer &

(C) 1 ar Rer a1 IRaci &

(D) SUYH ¥ § 31g TE

TR W e i B aRom g 2

(A) Y @ 9T

(B) @Y & g4

(C) @ BN yarg &

(D) SHw Wi
aqvf;mwngﬁwﬁaﬁm

(A) 9 @ |

(B) @m—gif @rd #

(C) e v @i A

(D) UG # q B T

3T qTe AT BN

(A) famig @ w

(B) WRRER @@l W

(C) & @ral |

(D) &M TET W)

B T4 Gt 3 : 2 | @ &1 e avd #
4 shara @ 1/4 Rew o) w9y < € R a8
2/12 FfUa 9§ 3R 1/12 G | 57 F<ar 8| 1
A IS @ SFuT 81

(A) 8:4:3

(B) 16:14:12

(C) 26:19:15

(D) 3:1:1

fasha aore &

(A) X T

(B) VST qC

(C) =¥ Toe

(D) FEFR qoIe
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51.  The total utility is at its maximum, when 51. o IWWAA J®GH SN 8 wI AW

marginal utility is : I 2 &

(A) Zero ( A) EW

(B) Less than average utility (B) arad TR ¥ P
(C) Equal to average utility ; >

(D) More than average utility Eg; v _?: HE” I

52.  Ifthe net assets taken over by the company are 52.  ofe 7 gNT <€ wHfeaal &1 bl
less than the purchase consideration, the P Y% ¥ FH &1, ar 3R BT & ¢
difference shall be treated as : (A) T Ry
(A) Secret reserve (B) WM SRRy
(B) General reserve » e
(C) Capital reserve (©) EH d
(D) Goodwill (D) @Wﬁfl -

53. Which of the following is not a source  53. fwfeiRad & & 4ot worw (W SIFRHC) T
document ? ' g7
(A) Invoice and Bill (A) % T4 e
(B) Debit Note (B) ¥ T
(C) Cash Receipt 0) Te W
(D) Cash Book ED; boe

54.  Right shares are the shares : 54. ISR o7 q Iy & & :

(A) Offered to the Directors of the company (A) BT & el @ ELS| g

(B) First offered to the debenture holders (B) WdWeM FogauiRaAl &) weaad &

(C) First offered to the existing shareholders ©) 9o T SemIRaY 37w &t

(D) Issued by a newly formed company D) 7 M g e e
55.  The first step in management process is : 55.  yewE 9 Uik # gl 9w §

(A) Planning (A) faeE

(D) Budgeting ED; -

56.  If raw material used is 8,000 and direct ~ 56. f¥l SUBH W wgF T 28,000 T§ yeHE
labour cost is ¥ 6,000 on a work order, factory HH ST 26,000 &1, O Y AN W 15% I
overheads absorbed @ 15% on prime cost will R W @R 5 T sraE SuRey B
be :

(A) 21,200
(A) %1,200 (B; 2900
(B) 900 (C) 2210
(&) 5210 (D) 22,100
(D) %2,100 .

57.  Secret reserve is shown in : 57. < W9y fewmr o g
(A) Trading Account (A) auRe @ &

(B) Profit and Loss Account (B) amM-gf @ ¥
(C) Balance Sheet Ml :
(D) None of the above Eg)) i ?%Zﬂ'é &

58.  Bank reconciliation statement is prepared to : 58. % WM fdeRoT g O @

(A) Rectify the mistakes committed by the (A) 9% & UED ERT & TE TGl B TR
bank’s client %g
(B) ;;ejg(;:; tl?:s t;sf)a:]:es as per Cash Book (B) T I T UHF @ e 3 B _g_q
(C) Take loan from the bank (© ¥ 9§ F7 o @ ford
(D) Satisfy the legal requirement (D) e Smavasar @ qfd 8q
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59.  Gantt. Bonus Plan is the mixed form of . 59.  dve §E AT @1 fafda wu 2|
(A) Halsey and Taylor’s Plan (A) B T ToR DI JroT
(B) Halsey and Rowan’s Plan (B) BT TUT AaT B I
(C) Rowan and Taylor’s Plan (C) N T R B AT
(D) Emerson and Bedaux’s Plan (D) TR qo ¥ 2 Ao
60. What will be current ratio ? if : 60.  @Te] U @ B8R ? M
Current Liability 400000 EIGH aifieg 400000
Stock Z200000 i 7200000
Quick Ratio 1571 )
(A) 2:1 @) ;T“lj E 1.5:1
B) 1:2 B) 1:2
€y 1:1 © 1:1
(D) 1:1.3 D) 1:13
61. Maximum deduction under Section-80 TTA 61. OB JRWFTH H gR-80 TTA & I=ifa
of the Income Tax Act is : Jfepaq Fdr &
(A) 340,000 (A) 40,000
(B) 20,000 (B) 220,000
(C) 210,000 (C) 210,000
(D) 15,000 (D) %15,000
62. The ideal current ratio is : 62. 3yl 7], U g
(A) 1:2 (A) 1:2
B) 2:1 (B) 2:1
©) 3:2 €y 3:2
(D) 3:4 (D) 3:4
63. According to Companies Act 2013, the  63. T JIRTH 2013, & AR TH WA B!
maximum number of members in a private H gewl 9 IftrhdH G&IT 8 Gahd!
company can be : (A) 100
(A) 100 (B) 50
(B) 50 (C) 200
(C) 200 (D) & A1 78
(D) No any limit
64.  On the basis of the information given below,  64. 7 & T¢ o1 & AUR W Ahal AT U SN
Gross Profit Ratio will be : & fasma = 2 565,000
Net sales =¥ 565,000 9 T AT B AN = 375,000
Cost of goods sold =% 375,000 (A) 66.66%
(A) 66.66% (B) 40%
(B) 40% (C) 50%
(©) 0% (D) 33.63%
(D) 33.63%
65. Inventory is valued at cost or realisable value 65. Efed &1 Wﬁ EINGR R Eﬂﬁ Iy 1
whichever is less due to : ¥ N A o9 8 99 W) foEm 9ar € :
(A) Conservation concept (A) Sfearfear &) 3qURT & SR
(W) Laaneimegt (B) WA JGERVI & BRI
S Loy © 79 4 s 3
(D) SU # & I TE
66.  Ifprofit on cost is 25%, then profit onnet sales ~ 66. I AT W AW 25% & d fIHT [ W @™
will be : &I
(A) 20% (A) 20%
(B) 30% (B) 30%
(©) 33%% (C) 33%%
(D) 40% (D) 40%
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67. Generally, the capital gain on sale of 67. WMNIGA gIfd GHREAl & 8 W HElGICH
depreciable assets is : Ioft M Bl g
(A) Short-term capital gain (A) FT—rel quft @
(B) Long-term capital gain (B) S—prd= iT:ﬂ A
(C) Ta:n;-fr»&:lec _ ©) T
D) None of the above : :
® (D) S # & P T
68. Interest on investment is shown : 68. faffn ® & fexamn @ &
(A) Inthe debit side of profit and loss account (A) a2 @ & Sfde ug ¥
(B) Inthe credit side of profit and loss account (B) A-gI @ @ dfee uy §
(C) On the liability side of balance sheet aiftrea :
(D) On the asset side of balance sheet Eg)) g‘g 2 - 3:; :{[
69. A contract becomes void contract when it : 69. Td (ﬂ?ﬁ‘a a9 oot C’ﬁﬂﬂ & I 8, Y I8
" (A) Ceases to be enforceable (A) Yad4Ia el Bdl &
(B) Becomes voidable (B) dH & o @
(C) Becomes illegal
(D) Becomes enforceable © 3 & Tl &
(D) Wacg & T &
70.  Workmen’s compensation fund is a : 70.  HHERY EI‘FdT]ﬁ PYE:
(A) Surplus (A) T
(B) Provision (B) WrEg=
(C) Current liability
(C) d T
(D) None of the above .
(D) SH® # ¥ B¢ Tl
71.  Income elasticity of demand is positive incase ~ 71. 3 & T B W THAHD BN &
of _ goods. AT B A H|
(A) Superior (A) IS
(B) Inferior
(C) Necessary (B) Hiew
(D) None of the above (© :
(D) YD 4 A I TaI
72.  Debiting A’s account instead of B’s account is 72. B & GM B T8 A & Gl AW A B9
an error of : TR P! T &
(A) Omission (A) Yo—Ib Gl
(B) Commission T
(C) Principal (g) _%2?{ &
(D) None of the above © ‘ .
(D) SWH ¥ § $ig T
73.  When the coefficient of correlation between 73. TEA Hﬁl‘iﬁl’ﬂ‘f 4 geaey T’TTCB IR
two securities is and weights are ITP R G g dr sifteq AT g 2|
optimum, then the risk is minimum. (A) +1
(A) +1 (B) >1
(B) >1 (© 0
© 0 (D) -1
(D) -1 .
74.  On dissolution of the firm, partner’s capital  74. WH & f¥ed W IEERl & ‘171?[ g 9% {6
accounts are closed through : IR
(A) Realisation Account (A) a'qgﬁ O ® 989 9§
(B) Drawing Account (B) IRV @R B AIH
(C) Bank Account
(C) % @ & ARIH @
(D) Loan Account
(D) 7V €N & ARGH 4§
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75.  The object of internal audit is : 75.  aRad fberor H G@Q’J g
(A) To prevent errors and frauds (A) FfeA vd Huet o JAbI™
(B) To detect errors and frauds (B) m q-q a;qa CAR GIRGLIGIH
(C) To improve financial control ©) e fra=m 3 TR AT
(D) All of the above D) G‘T{i?ﬁ s
76.  Dividend Equalisation Fund is an example of : 76. MY FHMIENY BIY UH ISR &
(A) Specific Reserve (A) fafdre 99g &1
(B) General Reserve (B) 9HN GG &I
(C) Capital Reserve (©) E'S’ﬂw T T
(D) Secret Reserve -
(D) T« €T &
77.  Tax-Planning is : 77.  wR-{TE
(A) Not legal (A) dnfe 78 &
(B) Legal and moral (B) e @ e 2
(C) Moral ©) Mg 2
(D) None of the above (D) G'Q'Q?ﬁ ¥ P T
78. A, B and C are three partners sharing profits 78. A, B 3R C ¥ ¥RISR € W @™ g gl @t
and losses in the ratio of 4 : 3: 2. D is admitted 4:32% CERIGH #dfcd €1 D 9T 1,0 AT Gil
for 1/,, share, the new ratio will be : oy wadr far rar & A C LRI Hull
(A) 10:7:7:4 (A) 10:7:7:4
(B) 5:3:2:1 (B) 5:3:2:1
(€) 4:3:2:1 (C) 4:3:2:1
(D) None of the above (D) G'Q'é?ﬁ ¥ QB TE
79. A business has assets of ¥1,40,000 and  79. UF FAEW P TEREN T1,40,000 T TR
outside liabilities of ¥ 60,000. Owner’s equity TRT 260,000 & | WA B qs,ﬁ 2
will amount to : ’
(A) Nil (A) ¥
(B) 80,000 (B) 80,000
(C) %1,40,000 (©) %1,40,000 .
(D) %2,00,000 (D) %2,00,000
80. Amount of goods given as donation shouldbe ~ 80. TF # oA 71T @ RN ‘B’ B AR :
credited to : (A) TE @ H
(A) Donation Account (B) 3MExI @y A
(B) Drawing Account () Ry @ ¥
(C) Sales Account " ¥
(D) Purchase Account (D) »d
81. Which component of capital structure has 81. qsrﬁ 3 BT DH AT ad AWHaH AT drell sl
highest cost ? 27
(A) Debentures (A) FUUF
(B) Equity share capital (B) & 39 W
EC)) Lor;‘g—term kilan | (C) -l T
D) Preference share capita e
(D) EfRrHRY afer o
82.  Gateway of Tally screen is separated into : 82. <ol &M & ed I 9feT AT |
(A) Five Sections (A) UG A H
(B) Eight Sections (B) 3 it #
(C) Seven Sections (C) a4 ¥
(D) Six Sections (D) ®: it &
83.  Excess of working capital is evidence of : 83. Ul Fride qoft g @
(A) High credit (A) S 9F @l
(B) Idle funds (B) fAftma @i &
(C) Demand of product (C) S @ T @
(D) None of the above (D) E‘C@i‘ﬁ ¥y o &
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84.  Profit on cancellation of own debentures is 84. M FI TH P TIFE W gQ M T IR0 BI:
tr:;]s fgtrrfd = t of Profit & L (A) w—g faae
atement of Profi 0SS S w
%B) Surplus in Statement of Profit & Loss (B) W"gﬁ i _ A
(C) General Reserve Account (C©) M wag o #
(D) Capital Reserve Account (D) o w97 o o
85. Income received in India or deemed to be  85. WRA ¥ Wid & WK GHI AT AT BRI
received in India is taxable in the hands of : & fou s arg &
(A) Residents (A) Frerh & fw
(B) Not ordinarily residents (B) R frar 3 Rre
(C) Non- resident Syt g S
(D) All assesses © .
(D) & TR & forg
86. A bill of exchange is : 86. fafwa fadt 8 :
(A) An unconditional order of pay (A) T e BT Iaxfed ey
(B) Promise to pay (B) A = P s
(C) Responsibility to pay (€) FTH 3w o
(D) None of the above D) Gf[ﬁ?ﬁ 3§ P T
87.  The second glass of apple juice gives lesser 87. W B Sl B {ﬂ"(’ frems & STHRET B &
satisfaction to the consumer. This is a case of : Hafe edl 21 98 ISR §
(A) Law of variable proportions (A) uRadTda Gﬂfﬂ?ﬁ 3 | @1
(B) Law of diminishing returns (B) EHH VRS B
(C) Law of diminishing marginal utility 5 AR
(D) Law of supply (C) ErH % frm a1
(D) ofd & fram &1
88. Where will you show normal loss in a R8. Q'Q'UT @'ﬁ' (Consignment Account) ﬁ HTEINT
Consignment Account ? 21 3T Pl feEriy ?
(A) Debit side of consignment account (A) I @l & e A
(B) Credit side of consignment account .
(C) No where in consignment account (B) o @ $ pise A
(D) Any where in debit side or credit side of (C) WU @il # Hel el
consignment account (D) YV & & SfdT @ wfec @ & wEl A
89. Which of the following is not the component 89, fy=folRaqg § & @19 91 fog &1 13 = & ?
of finance function ? (A) fafranT fofg
(A) Investment decision
(B) Financiils desihion (B) ¢y fvfg
(C) Decision regarding setting up a business (C) =Gy wIfd B BT A0
(D) Dividend decision (D) @i Aol
90. Donation received for specific objective will ~ 90. fady ey & forv wg @@ fe@mr @R :
be shown in : :
(A) Income and expenditure account (A) S-SR G ¥ "
(B) Liability side of balance sheet (B) frg & Tl o ﬁ
(C) Assets side of balance sheet (©) fﬁg D gy U A
(D) None of the above (D) G‘lnj?ﬁ 9 Blg T8l
91.  The income and expenditure account reveals : 91. Y 3N Y @A ¥ 9T Il &
(A) Cash in hand (A) AP BT A
(B) Capital account (B) q\“ﬁ @rdr
(C) Surplus or deficiency ©) AR T B
(D) All of the above D) j an
92.  Goodwill is : 92. @ g:
(A) Tangible assets (A) T |
(B) Intangible assets (B) GT‘I& TRy
(C) Current assets (©) T e
(D) None of the above D) i ¥ P
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93.  Which of the following is not an income ? 93. fo=folRed ¥ 9 & oM T8 & ?
(A) Capital receipts (A) ir,ﬂ et
(B) Discount received (B) i) ‘ﬁ)—qT T 92
(C) Interest received (©) W e m
(D) Commission received
(D) W fohar T HHIeE
94. In case of dissolution in recorded assets when  94. HH @& fdued W IR AWoiRed =iy &9 WEER
are taken over by a partner are shown in : gRT o Y & @ 39 e W
(A) Debit side of realisation account (A) aﬂ?ﬁ T P T Uy N
(B) Debit side of bank account (B) ¥ @R 3 99 9y §
(C) Credit side of realisation account g 3
(D) Credit side of bank account Eg; gﬁ G wmq;i
95.  The rebate on a bill shows that : 95. fda w B gamr ¢ & :
(A) it has been paid after the date of maturity (A) T8 IRUFEd o TRE B d15 GUGIE] frar
(B) It has been paid before the date of T R
maturity e
(C) It has been dishonoured (B) E 2 1 A | Tq; g feam
(D) It has been renewed © <@ sRdiER T T s
(D) 9&! T fbar T 8
96. Basic components of database is/are : 96. ST 99 & ol AT 7/%:
(A) Bit A fie
(B Byte (B) e
(C) Data (©) e
(D) All of the above D) i T
97.  Voidable agreement is that agreement, which ~ 97. Jg Ied T8 I&NIG &, W :
is : (A) ST ER $ 3BT W Jad-g & &
(A) Enforceable at the option of the (B) I BT 2
" o ?ﬁggrit]aved party (©) aad Brar &
ega , !
(C) Not enforceable (D) @ IEE T &ﬁ aE a3
(D) No such term as voidable agreement s & gl § T 2
exists in the Contract Act
98. Life membership fees is a/an : 98. WiIgq W&l Teo
(A) Liability (A) & 3 2
(B) Income (B) U 34 3
(C) Expenditure (C) & IT 3
(D) Assets D) T TR Y
99.  Which ofthe following is not related to micro- ~ 99. fam=forRag & & oW afe s ¥ g=fa
economics ? TE?
(B) Factor pricing B) WEF T
(C) General price level
(D) Study of individual firms Eg)) il ﬁ:}g"
100. Grapevine communication is : 100.  3EreTar | AT B -
(A) Informal (A) IFTARS
Eg; Fw"f_mal ®) dmaRe
ritten
(C) forfad
(D) None of the above D) I{q?jjﬁ ¥ P
* ok ok ok ok
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F IR R v Il au § R YR P aTaar &, a sl aoi & A g

If there is any mis-match in Hindi & English version, then english version will be acceptable.

B 3qw AOTHOIR) TER-T5F W FRET IeR | & i 1 | S0THIRD SeR-Tw T FE-IRasT R B
it frg 7 T o T & 8 R 4 o AW ol | 78 A e v o 6 1@ AR i e T e
e W TgE AT A1 X9 ¥ rer a1 o Ry & grer ar B @1 war a g aivfd 81 6 R @
P T R HONAS 3% 38 S |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

@ed B (Rough work) W& JRaaT & € far o |
Rough work is to be done in the Question booklet only.

T e T B IR 3 I TR Rided B AER TP & I B 0 TER AR | 7B ¥ 3w R A gl 7 9w
TR T BIS e a1 9 BT Az e B Tad I<) G A

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TR ¢ A Afor el v &7 e e 41 39 UBR €

Example: Suppose Q.No. 41 of the subject is as below:

9

Q.No. 41:  What type of mixture is smoke ? g?:ﬁ fore woR @1 fAsor & ?
(A) Solid mixed with a gas (A) v ffdm s
(B) Gas mixed with a gas (B) I fAafm iw
(C) Liquid mixed with a gas (©) i e 79
(D) Gas mixed with a liquid and a solid (D) wa vd 3 Pl

IR TS AR g9 9 & 68 I/ Rer (D) B, A IR § T AT | W faww—awg Fiem wT wEw
41 P EH P T B 39 TPR W
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

Tora fafr

Correct method Wrong method o

OO

(@ o Ry & 4 frel o e § B Rieg o T @ o W SR @ W e @1 R @ e e S A
Y 9T Hafer 3G FOTD 2 2 )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T et @ R WY W G @ o & 5 AR 9% 39 wE-qRaa # @ w9 s 7o s Fegl e
TR fie TR G e B Fidee @ <, R T 7S S R o 99 e Jfe B gER o 69 |
The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

T qdu ¥ geegiie U4 A dogeer ouT 9 SRS W S ANTEe G, IR ST @ AR A i affd 8

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

T T § RN 3G BT WUF ¥ TP T IR B Ay % 3@ prer F |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
2 T® T P QT Y IR TR A R A RS de B WU 2| T A T IR B AR v 3G Drer T
On giving of two or more than two answer for every question, % mark will be deducted.
3. 39 WE-gRaeT § I ITEAD 3R FeT BRI (Rough Work) & SfaRe o 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.
4 T TR B T OMR W B SR OFd 3 WH F A AR RN w18 wharll oy @ wdem o w
o SIRAT o e Wiy 9 Frafed v wE Fhed 31 Sude S |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



